Kelly – Econ 101


Economics 101

Fall 2005
Homework #1.

Answer Key
1.  Solution:
Note: Positive statements often involve making a forcast and are always verifiable, while normative are usually not verifiable, and are used when prescribing how things should work. 

a. P


b. N


c. N ( P )

d. N

2.  Solution:
a.  The drawing is as follows:

b. There are several ways of getting the equation.
The simplest one is as follows. We are looking for the equation of a line which always have the following form: Y = m X + b. Then, we are looking for the m and b values. Since both the points A and B are on the line, then:

1 = 3m  + b

7 = 9m  + b

Consider the first equation. Then:

1 – 3m = b

Plug that value of b into the second equation:

7 = 9m + (1 – 3m )
Then:

6 = 6m 

Finally:
m = 1
Then:

1 – 3. 1 = b

b = –2

In this way, the equation of the line is given by:

Y = X – 2
This is just one possible way of solving it. If you are used to another one, that’s fine.
c. The slope is the value we called m before. Then, the slope is 1.

d. The Y intercept is the value we called b before. Then, the Y intercept is -2. The X intercept can be obtained by asking: For which value of X it is true that the value of Y is 0? We can express that question as follows:

0 = X – 2
X = 2
The X intercept is 2.
3.  Solution:

a. Y = X - 2, Y =  - X + 6
X – 2 = - X + 6

2 X = 8

X = 4

Y = 4 – 2 = 2


[image: image1]
b. X = 2.5, Y=5

[image: image2]
c. Y = 10, X = 40

[image: image3]
d. Y= 0.4, X = 2.8


[image: image4]
4. Solution

[image: image5]
a. Y= - (½) X + 50000
b. 2
c. ½
d. The opportunity cost of 1 football is the same as the slope of the PPF. Usually, the slope of the PPF is the opportunity cost of the X variable. 

e. A linear PPF has a constant slope, hence constant opportunity cost, while a bowed one has decreasing slope and hence increasing opportunity cost. 
f. 
[image: image6]
g. Y= - (1/3) X + 50000
Technological improvements lead to an outward shift of the PPF.

5. Solution:


a.  Production possibility frontiers:


[image: image7]
b. In the case of USA, the opportunity cost of 1 DVD is 1/2 TV. In the case of Japan, the opportunity cost of 1 DVD is 3 TVs.
c. In the case of USA, the opportunity cost of 1 TV is 2 DVDs. In the case of Japan, the opportunity cost of 1 TV is 1/3 DVD.
d. USA has the absolute advantage in the production of DVDs and TVs.
e. USA has the comparative advantage in DVDs. Japan has the comparative advantage in TVs.
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